Name_________________

Class_________________

Equilibrium Worksheet
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1. For the block pictured on the right, answer the following questions:

A. Label all forces acting on the block 

Mass of block_______

Angle of Incline______ 

B. find the magnitude of each force labeled in part A
C. If the tension in each string is equal to the forces found in part A, what do you think will happen when the inclined plane is removed?

DISCUSS YOUR ANSWERS TO QUESTION 1 WITH A FRIEND AND REVISE YOUR ANSWERS AS NEEDED
LISTEN TO CLASS DISCUSSION AND REVISE YOUR ANSWERS AGAIN (IT MIGHT HELP TO USE A DIFFERENT PEN)
2. What happened to the block when the incline was removed?
Why?

 What is the net force on the block?

Why?

DISCUSS YOUR ANSWERS TO QUESTION 2 WITH A FRIEND AND REVISE YOUR ANSWERS AS NEEDED

LISTEN TO CLASS DISCUSSION AND REVISE YOUR ANSWERS AGAIN (IT MIGHT HELP TO USE A DIFFERENT PEN)
3. The block did not move, therefore it has no acceleration and all of the forces acting on it should add to zero.  In this case, the tension in the strings provided the forces needed to balance the weight.

Calculate the tension in each string:

String parallel to the incline:  Mass on the end of the string: ___________









Tension Parallel _________

String perpendicular to the incline.  Mass on the end of the string:









Tension Perpendicular _____

DISCUSS YOUR ANSWERS TO QUESTION 3 WITH A FRIEND AND REVISE YOUR ANSWERS AS NEEDED

LISTEN TO CLASS DISCUSSION AND REVISE YOUR ANSWERS AGAIN (IT MIGHT HELP TO USE A DIFFERENT PEN)
4. For an x axis taken parallel to the inclined plane, find the forces in the x and y directions and add them together to verify 
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x direction




y direction

x component of weight:_____________
y component of weight _____________________
tension in string along incline:________
Tension in string perpendicular to incline________
Net force ____________



Net force_____________

DISCUSS YOUR ANSWERS TO QUESTION 4 WITH A FRIEND AND REVISE YOUR ANSWERS AS NEEDED

LISTEN TO CLASS DISCUSSION AND REVISE YOUR ANSWERS AGAIN (IT MIGHT HELP TO USE A DIFFERENT PEN)

Another Problem:


[image: image2]
1.  A mass of 800 kg sits on a table.  A string is connected to the mass and hangs over the edge of the table and pulley.  There is a frictional force of 4900 N acting between the block and the table.

A.  Draw a free body diagram of the block

B. Find the magnitude of the weight

C. Using 
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solve for the normal force and the mass, M at the end of the hanging string.


X dimension



y dimension
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